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PN SMAMHAIA
Hu: OB ZMES MAZRES
el BAS0 AR (cHel ® Q)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
03 SHZRFHI 27,000 25,200 1,800
Ol 50,0003 x45EH «12& 27,000
206 = Hl 119,500 104,500 15,000
01 M= 4l 119,500 104,500 15,000
OEs FLIANE AdEME
6,000& *3,000 18,000
OSEAA M4 79 30,0002 %400 12,000
OSELASIHLLALME 11,2502 +40021 4,500
OSEANIMBEEY 50002 «8% «200L 8,000
OXNUSLE AHHASK &
22,500& *1,200A 27,000
OSUES3EE TEAAMME
100& 250,000 * 104 2 25,000
OHRSSSUTSAN LEWE
400& *25,0005 10,000
ONS(H)=E ==23M ME2 15,000
207 A RO 171,240 171,240 0
03 Al & 224l 171,240 171,240 0
OIESE A 10,000& =1,000A 10,000
O3=SZAAM 7,150 «300& « 12 25,740
OASEIHE A4S A 10,000& »25024 2,500
OO0l =& A 5,000& 12,000 60,000
OdsSESEZA 5,000& *6,0004 30,000
O&FSEIAMN AIZ7L 4,000& 1,200 4,800
Ol=% JtAa 120,000& 60& 7,200
OYMH e HA 50,000& x50024 25,000
OAZH A 3,000,000& «2M = 6,000
405 THobF S| 24,400 136,000 A 111,600
01 AL ESH SHI 24,400 136,000 A 111,600
EEZAM2 BREH 7Y 1,300, 000 *7CH 9,100
ONzZ&E RS H LI 9,000, 000& 1AMl E 9,000
OB (H)T=E AL JINMH 2L 6,300
- ZAZEFH 1,300, 000 3 CH 3,900
—dAtZ AR E I3 800,000& 34! 2,400
BESLEZA 290,850 138,175 152,675
= 135,300
< 155,550
101 @14l 80,250 80,175 75
= 30,000
S 50,250
04 JI12ZtHZ22HEE = 80,250 80,175 75
Osd=ZAMN EX 80,250
= 30,000




SH: BMTMOTA
Hu: OB ZMES MAZRES
& SAaSHd e )
= _ — d =
SA - BB B () - MM - BES e
< 50,250
201 L2l 51,600 58,000 A 6,400
= 25,800
< 25,800
02 23224l 51,600 58,000 A 6,400
OFMSZANEHISX 50,000
= 25,000
< 25,000
O=4EZ A== H| 1,600
= 800
< 800
405 RHoHF S HI 159,000 0 159,000
- 79,500
< 79,500
01 et EZFH S 159,000 0 159,000
OMMIA=0tE DTl 100,000,000& 1Ml E 100,000
= 50,000
< 50,000
OQIAHIOIH 3,000,000 +3Al E 9,000
= 4,500
< 4,500
o=z dxX 4,000,000 1Ml E 4,000
= 2,000
< 2,000
Od& . dsn 3,000,000& 2Kl E 6,000
= 3,000
< 3,000
Oreal time PCR 40,000,000 1AMl E 40,000
= 20,000
< 20,000
BSE(Z <Y )& At 48,000 48,000 0
= 24,000
< 24,000
207 RO ] 48,000 48,000 0
= 24,000
< 24,000
03 A& & 22l 48,000 48,000 0
OFREAHAE 50,000& 960 48,000
= 24,000
< 24,000
HMAII =TS A 72,258 71,752 506
101 @124l 11,758 11,252 506
04 JIZHHZ2Z2XNHESE S+ 11,758 11,252 506
O21I SFHEX S A 42,2603 18 x260 10,988
OHAZHI(UUHEEZ 10,988, 000& *7% 770
206 = Hl 60,500 60,500 0




2H: BNPMOIRA
Hu: OB ZMES MAZRES
Chelr 2aSOE TR (S5 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 X2t 60,500 60,500 0
O2DI| FEX ZA 110, 000& #5501 60,500
SSFAES A 52,200 0 52,200
= 26,100
= 26,100
201 LEt2 Y| 10,200 0 10,200
= 5,100
& 5,100
02 352494l 10,200 0 10,200
OFH&E ZAF =HHI 10,200
= 5,100
& 5,100
405 XHaHF SHI 42,000 0 42,000
= 21,000
T 21,000
01 MM = ZFSHI 42,000 0 42,000
OXNsHIIEsEX 42,000,000& x1 Ml E 42,000
= 21,000
T 21,000
s AAMS 2,077,603 1,962,266 115,337
= 1,048,460
& 1,029,143
NEYARXA 78,719 87,669 N 8,950
201 Yur2 Y| 11,000 9,950 1,050
01 AFR2t2l bl 7,000 5,950 1,050
ozg=+Y 4,200
- IJISHEYUEE2S 70,0003 *13H x43] 3,640
-S=AEE2R/AG 70,000& x2H *23] 280
-~ ME0N AT 70,0003 x2H %23 280
oul=sl 800
- RS 100, 000& *8YH 800
OZ2 &l 2,000
—IISAEHMAHARY 2,000
02 3524l 4,000 4,000 0
OYAEH RANEx 100, 000& =40 CH 4,000
202 04| 900 900 0
01 2LHOHI 900 900 0
OJX}=&4Y MOl 900
206 T2 HI 1,500 1,500 0
01 = bl 1,500 1,500 0
OALSSUHES 300, 000& *53] 1,500
207 1R 2yl 65,319 65,319 0




2N

o OHE SAE MNBZ
Sl Db S e ALY (S &2)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
03 Al& & 22 H| 65,319 65,319 0
OJ=zgdd & oz 34,235
-IIRZ2E0E { ALE 800& +3,00021 2,400
-SEZEHAHUEH 23 100,000& *353] 3,500
-JISHASH JlesEs 50,000& »210A 10,500
-SHLTEANE 20,0003 20024 4,000
— NI HH 28 2 A 10,0003 »250A 2,500
S & 10, 000& *300A 3,000
- A EA 500& %7004 *10%] 3,500
-NE8SE 25,0003 205 500
-NEgs=82= 2,000& *10kg*12& 240
- ANESEMNLHE 303 «1005*365& 1,095
-Ofds=ZEAH 150,000& »20A 3,000
Ool+=3Sdg8aX 10,200
- HAESEH| 6,000 »7E «100& 4,200
-—ERdAgEYd A XAMNE
20,0003 30024 6,000
OLEIN=EHSE SAINE S A 16,884
- AHNEHSH I A 400& x12,000A 4,800
- THSEEHEZA 1,000& *8,00024 8,000
-HXNSEEIAE 4002 +10,2105% 4,084
OAgdE 2N +~=&AIE 2,000,000 «2Ml = 4,000
OlZ=FA & dg8E Z2d 422,637 391,405 31,232
= 244,713
S 177,924
207 47K 2l 422,637 391,405 31,232
- 244,713
£ 177,924
03 AIE8 & 22H| 422,637 391,406 31,232
O<Z & (PPD) 15,143
= 13,243
= 1,900
o=z (r-2HHZ) 159,100
= 79,550
S 79,550
OB 4eH(MRT) 1,777
= 1,542
< 235
OE=4deH(z2aW2) 60,157
= 46,167
< 13,990
OMsZH 39,900
= 19,950
= 19,950
OHR M A 9,408




SH: BMTMOTA
Hu: OB ZMES MAZRES
Sl Db S e ALY (S &2)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
= 8,808
= 600
OFwe|(Zo) 1,116
= 666
< 450
OZFeel(ELISA) 1,630
- 1,584
=) 46
OXRUBZAR 104,406
= 52,203
< 52,203
OO0l 2 Sct20E ol el 30,000
= 21,000
S 9,000
=g IA 2 H42F 58,747 62,392 N 3,645
= 58,747
207 A O] 58,747 62,392 N 3,645
= 58,747
03 Al & 121HI 58,747 62,392 N 3,645
OJN=EFAAN & dd2F 58,747
= 58,747
N=EY DLHYE ZA 30,000 27,000 3,000
= 15,000
= 15,000
207 A RO 30,000 27,000 3,000
= 15,000
S 15,000
03 Al &2l 30,000 27,000 3,000
OJNETY BLUEHYHA 30,000
= 15,000
& 15,000
BSE(Z2Y) & CAERATAMNAE RANES 60,000 60,000 0
=2 30,000
< 30,000
201 L Er2 A | 60,000 60,000 0
= 30,000
< 30,000
02 =24l 60,000 60,000 0
OAIE ZHI S X 60,000
—BSE(Z Y)Y EZE2ATAAMAY R
30,000,000 #2200 A 60,000
= 30,000
=) 30,000
LA ALEH P2 LY 970,000 1,120,000 A 150,000
= 485,000
=) 485,000




A SAFIMDL
Hu: OB ZMES MAZRES
Sl JbEY ALY CEEEED
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2

405 Ko SHI 970,000 1,120,000 A 150,000

- 485,000

== 485,000
01 JHAHE =2 Z F S H 970,000 1,120,000 A 150,000

ONXsKAEXEAE 150,000,000 = 1CH 150,000

= 75,000

& 75,000

OMgsEA )| 50,000,000& =1CH 50,000

= 25,000

= 25,000

(OEY\PIEY [E<P) 30,000,000& =1CH 30,000

2 15,000

= 15,000

OXNSHEIESsEHI 50,000,000& =1CH 50,000

- 25,000

< 25,000

OAZDIMEHSD 50,000,000 =1 CH 50,000

= 25,000

& 25,000

ODIMEEESE 130,000, 000& = 1CH 130,000

= 65,000

& 65,000

ODNA ==& 20,000,000 =1 CH 20,000

= 10,000

o= 10,000

OMicroplateAMl = J| 20,000,000& =1CH 20,000

= 10,000

== 10,000

orzau 15,000, 000& = 1CH 15,000

- 7,500

o= 7,500

OxXAXs=4 )| 70,000,000& =1CH 70,000

= 35,000

== 35,000

OMZotM =AY 15,000, 000 *2CH 30,000

= 15,000

o= 15,000

OosZ&a 25,000,000 =1CH 25,000

= 12,500

< 12,500

OMHIAEN I 60,000,000 =1CH 60,000

= 30,000

o= 30,000

ONXsIAZFI 60,000,000& =1CH 60,000

- 30,000

= 30,000

OFXNSHEIAEASER 60,000,000 =1CH 60,000

= 30,000

o= 30,000




SH: BUMADL
Hu: OB ZMES MAZRES
Sl PSS ALY CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OXSELISAZ AFD| 90,000,000 = 1CH 90,000
= 45,000
< 45,000
OsZA=XD| 30,000,000 = 1CH 30,000
2 15,000
< 15,000
OXI X &7 30,000,000& = 1CH 30,000
2 15,000
< 15,000
HAEXTR 22 267,500 213,800 53,700
= 100,000
= 167,500
101 @124l 267,500 213,800 53,700
= 100,000
< 167,500
M4 IR Z22NSES 267,500 213,800 53,700
Ogda=sxa 50,0003 x20F 250 250,000
= 100,000
< 150,000
Og&EZH 250,000, 000& *7% 17,500
HMHAIIEE SEXNEL HWESAS 100,000 0 100,000
= 70,000
< 30,000
401 Al HI L 2 THHI 50,000 0 50,000
= 35,000
< 15,000
01 A& HI 50,000 0 50,000
Ods=7 28 2 ESXE AME 50,000
= 35,000
< 15,000
405 XHoHF S HI 50,000 0 50,000
= 35,000
< 15,000
01 AL 2 ZFH S| 50,000 0 50,000
O&HX = &bl 50,000,000& » 14! 50,000
= 35,000
< 15,000
FAR= = SN = N 90,000 0 90,000
= 45,000
< 45,000
405 XtAHE S| 90,000 0 90,000
= 45,000
< 45,000
01 AL EZFH S 90,000 0 90,000
O Xt (UA) 30,000,000 =3CH 90,000
= 45,000




S SARAMATA
M OIFE BN MARZ
-%urod/\rm
o M =]

SA BB O () - NRAY - HES 0l &+ o4 il
< 45,000
e & REL EE 876,048 790,559
| 11,357
< 864,691
steigdsEdd 439,560 495,523
101 14 bl 23,678 22,669
04 JIZHHZ2XHEES 23,678 22,669
OsJIH2d8&A 46,2503 #2502 « 1 11,563
OHBZHI(UUHEEZ 11,563,000& *7% 810
OJtEA L 2el B = 42,2603 *250 «1H 10,565
OHBZHI(UUHEEZ 10,565,000& *7% 740
201 L2l 60,652 112,841
01 At 2t 2|l 9,600 65,100
Oget==EH| 2,200
-dU=ZetAzs=z 100,000 55 500
-0l s 3,000& 5005 1,500
-z E= 40,000& 55 200
ozg=4¢ 700
-E3Sise 100,000 *7H x13] 700
o1l =l 2,200
- NFAEE 100,000& »22H 2,200
ogxtz 4,500
- IS 28tX 400,000& x5 2,000
- =X A2 =
500,000& x5 2,500
02 2322l 51,052 47,741
Ooz33 ¥ 950
— &I LD 500,000& x13l 500
- =ZeolA 150, 000 *32] 450
OAN&ZEHISX 50,102
- ESMYRH 25,000
— TMRAH = BH & D1 1,000, 000& = 1CH 1,000
-E4d 2,000,000 =4 CH 8,000
-& 20 500, 0002 »3CH 1,500
- 0l=2 400,000 = 1CH 400
- =) 1,500, 000& 1 CH 1,500
- NsSEZEII( 600,000 *2CH 1,200
-2 200,000 = 16CH 3,200
-&30I 50,000 *30CH 1,500
- 55U 6,802
2= 1,857&+3,0004 5,571
Y= 2,051& 6004 1,231




e g

Moz

o 40
o 0z
o
> rﬁ
10 W0y
o0
I

]
> 0z
1z
HT
17

o
=

il

A Y SA(BA) - NRAY - BES & HI D52
202 O 4l 1,000 1,000 0
01 ZLHOHI 1,000 1,000 0
Ost=MOIL &4 1,000
206 =8l 27,430 15,818 11,612
01 M= Hl 27,430 15,818 11,612
OMgHE SH7Y 10,680
-S 17,0002 *360kg 6,120
-s¢ 1,700& =1,800kg 3,060
-QXUEDA 5,000& *300kg 1,500
OXANEHZEzE 24N 11,750
-8 He 82,6002 = 100K 8,260
-HE(Y) 163,300 =154 2,450
- ALYUXLESH(HZH) 80,0003 = 13H 1,040
OASZTYNAS(ASER2EE)
25,000% x200S 5,000
207 Ao 215,800 197,195 18,605
03 Al8 & 22 HI 215,800 197,195 18,605
Otlg &€ s 2 7,250
-4 14,000& 2001 2,800
-5 14,500& 200 2,900
- M=H 3,500 *300& 1,050
-4 5,000& =100& 500
OstdA+Y 10,0002 *800St 8,000
OdMEA~TY 4003 #5004 102l 2,000
osg+¢ 130,000& »100& 13,000
OBt At HI 185,550
-SEMEYI 410,000 *300= 123,000
- X ALZHI 147,000& »3005 44,100
-%4E % X2 41,0002 3005 12,300
- IEMNLADSE 20,5003 3005 6,150
401 Al HI L =2 Tl 16,000 0 16,000
01 A€ dl 16,000 0 16,000
OsIHEZAE &X 16,000
405 THatF S 95,000 146,000 251,000
01 ML ESFHSH 95,000 146,000 251,000
OFEXAL T Az sIIAHEE 2 95,000
— E & (100HP) 90,000, 0003 »1CH 90,000
-OIFIN(SE) 500,000& »2CH 1,000
- Jdl0ICH(EYEREE 4,000,000 1CH 4,000
SIEEZEEE & =2 HEs 54,844 30,688 24,156




2H: BNPMOIRA
Hu: OB ZMES MAZRES
Sl IEWY L REN BE (S &2)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
207 & 51 JH & Hl 32,844 29,888 2,956
03 Alg & 22 HI 32,844 29,888 2,956
O & Rl At HI 18,975
- SEAMNEH| 165,000& 1005 16,500
-%E % IS 16,500,000 *10% 1,650
- IIEMNSAZE 16,500, 0002 *5% 825
OS At 8,280
- SEAMNEH 24,0003 300 7,200
-%=5 % X2l 7,200,000 *10% 720
- IIEMNSAZE 7,200,000& *5% 360
OESIH AL 5,589
- SEAMNEH 162,000& 305 4,860
-%E ¥ X224 4,860,000% *10% 486
- IEMNSLAES 4,860,000 5% 243
401 AlEHI R0 8] 15,000 0 15,000
01 Al&HI 15,000 0 15,000
OFFAE 15,000
405 At&tF =HI 7,000 0 7,000
01 &L =ESFH=H 7,000 0 7,000
O=Rsi=¢ 3,500,000& 271 7,000
LSS sHAELES 198,610 194,614 3,996
101 @124 H] 22,610 26,614 AN 4,004
04 DIt 22 XS+ 22,610 26,614 A4,004
Ox=ddaEx 42,2603 28 x2502 21,130
OdEZH(4UHEER) 21,130, 0003 *7% 1,480
207 & 51 JH & H| 81,000 80,000 1,000
03 AlZ &7l 81,000 80,000 1,000
O3 dgdTEIE 1,250,000 *8HK 10,000
O==datddA2E 71,000
— Al ef 40,000
-ZMR(Rre)= 55,000 *50& *4 2 11,000
-SHUAAKFER M4 AUE
20,0002 *1,0005 20,000
405 TtatFH S 95,000 88,000 7,000
01 MM =S FHSH 95,000 88,000 7,000
AL OIAIZEDI AIAE 50,000
OXSDNAF=ZE &I 45,000
ADII0ISH ONAZAF DI 29 47,714 22,714 25,000
Jl 11,357
S 36,357




SH: BUMADL
Hu: OB ZMES MAZRES
S Y ¥ K& EE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 Lt 25,000 0 25,000
02 =224l 25,000 0 25,000
OAIE ZHl S X 25,000
-ONAS 2 B AL EH |SXE= 25,000
207 O] 22,714 22,714 0
J| 11,357
< 11,357
03 A& & 1 HI 22,714 22,714 0
OADNAS L & A A} 27,7003 8205 22,714
J| 11,357
= 11,357
ssRddEsH 11,720 28,420 216,700
201 Let2d| 9,000 5,700 3,300
02 2324l 9,000 5,700 3,300
ORdi2d &l A2 150,000 »60CH 9,000
207 A RO HI 2,720 2,720 0
03 Al & 2 HI 2,720 2,720 0
OWN2ItA 7 Y 170,000& = 16K 2,720
HASAANSEHA =4 18,600 18,600 0
307 glz2tol & 18,600 18,600 0
02 QIZtFAEXZ 18,600 18,600 0
O=Z &0l A& 100, 000& *305 *80% 2,400
OgE+=38 40,0003 1005 *80% 3,200
OlnssddEAd= 150, 000& 205 3,000
OS0tX e Heds 200,000& 505 10,000
ded s=sA8 AsFHA 105,000 0 105,000
206 = Hl 9,000 0 9,000
01 =8l 9,000 0 9,000
OEZINENSEESY ALE =S 9,000
401 A& HIZ 201 I 96,000 0 96,000
01 A& HI 96,000 0 96,000
Oste dUHIERA &X 10,000
OFMESHMAA (AU HEE) 19,000
OFSMELHMANE(EEEZA) 37,000
OESHA. & 2T 30,000
HAALARY 516,387 690,892 A 174,505
EAr2tel 516,387 690,892 A 174,505
201 YEt2 | 449,067 450,322 A 1,255
01 AP 2teltl 10,000 14,000 A4,000




SN S
o

M @Q EM2 MAZS
ool HRARY (B9 ®R)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
Ogerd & =gl 10,000
02 =24l 439,067 436,322 2,745
OZ2322SLAA 170,010
-&JIRsS 134,271
oS DA (AR A) 52,200
2z 6,990 *500kW+12& 41,940
AEZ 953 %9, 000kW12& 10,260
- SAE Z(ESIEAM) 3,597
2z 3503 *102kW+ 123 429
AEZ 223 *12,000kW«12& 3,168
AEA dHIIR=S 6,474
2z 6,990 +50kW+ 122 4,194
AESZ 953 +2,000kW12& 2,280
LW AE2UT HAA
3,000,000 x2&l x12& 72,000
—UXgggss42 30,0003 ~4CH«128 1,440
—&4=ER3 1,150,740 «12& 13,809
=P 5,510
=258 550,000 »8CH 4,400
SE 100,000& »2CH 200
sStE(UHE) 158, 000& »3CH 474
B2(58) 8
S22 (AE) 88
] 200
- @ EHHO0 60
- ASXHEIBA==8 50,0003 1601 x22] 1,600
- NsIAHEE= 11,370
=258 700,000& =8CH 5,600
Sg 450, 000& *2H 900
StE(UHE) 900, 000& »3CH 2,700
- S2(88 400
CSE(AE) 300
e 1,420
2 EHt0| 50
-gg&elosd (&) 30
-SZMNERE = 1,380
e 35,000 «16CH 23] 1,120
NEEE 130,000& »23] 260
-SIHANZSERH MBEBESEEE 600
O =ZHl 34,717
-3 M 1,764 «802 «136L 19,193
—AEa 1,7643 +80L +70L 9,879




SA =
of

M @Q zu2 MuZE
ool HRARY (B9 ®R)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
- ANESEA 11,7643 80 x40L 5,645
OA & &Hl XYl 159,440
-2 Y YUS, ROHAL
3,445%1 x5 037 m 17,353
— S At 1,522& =7, 757 m 11,807
-2 KX 2,000
-SY438A 500,000& *43] 2,000
—-EMRAEL 3,000
Al === 3,000
—HAAUN HE=EY 1,000,000& *43] 4,000
—HRAN AXEY 1,150,000& «23] 2,300
-f2z74 ZHnE 500, 000& =6 H4 3,000
—-aEga R 2,000,000& =4 4! 8,000
-dEsSEd 81X 3,000
—-aEA HIISHesY 1,250,000& «12& 15,000
—Al HJI2 Xel 700,000& x12& 8,400
-JIEgEs® HiHelsd 250,000& x12& 3,000
-foFy e 450,000€ x12& 5,400
—AUAE SEHLEZ E9
250,000 x12& 3,000
-QQHxXeEH 385,000& x12& 4,620
-t EE 2 380,000& 12& 4,560
- 3AA HASA 56,000
(@PNE=TaR=la:] 74,900
-U=eds2(2d) 30,400
-S8(5¥) 11,200
-sS(tg) 21,900
-3E2(5¢) 4,000
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